SIGNATURE PAGE

RFQ# F-70-2023

To the Board of County Commissioners of the County of Monmouth:

THE UNDERSIGNED HEREBY DECLARES THAT I (WE) HAVE CAREFULLY EXAMINED THE SPECIFICATIONS. I (WE) HEREBY CERTIFY PRICES QUOTED ARE IN ACCORDANCE WITH YOUR REQUIREMENTS.

Company Name:	Eastern Metal of Elmira, Inc.	
	(PRINT)	
Preparer's Name:		
Signature: ַ	Shaun Feden	9/28/23
Address:	1430 Sullivan Street Elmira NY 14901	(DATE
Telephone No.:	607-734-2295	
Fax No.:	607-734-8783	
E-Mail Address:	speden@usa-sign.com	
	(This should be the email where Contracts woul	d be sent)
Contact Person:	Shaun Peden	
FEIN:		
(Federal Employee ID)		

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

RFB must be red	eived no later than:	September 20, 202	3 10:30AM		•
For Delivery to:		/Traffic Safety Unit, Public ilding #2, Freehold, NJ 0	•		
Delivery Date:	90 DAYS A	FTER AWARD OF CONTRA	CT	•	
ITEM#	DESCRIPTION		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18" X 36" P 5 BANDS C DIAMOND SHALL ME STAMPED THE BASE PRODUCT	# 456-HD+T-4 .ASTICADE OR APPROVED	SE AND WHITE S. ORTION NEAR	150 EACH	\$91.00	\$13,650
Packagin MFG/Bra Product N Variance	nd: Eastern Metal No: DRUM-4-6DGR-MAX	similar specs, see sheet			
ORANGE, MOLDED F WITH HIGH MINIMUM 3 WITH 6" W 6" BAND. SHALL ME WITH MCP PRODUCT		C), NE COLLARS, ROM THE TOP MUM 2" BELOW S. STAMPED PROVED	1,000 EACH	18.00	\$18,000
Packagin MFG/Bra Product N Variance	nd: <u>Eastern Metal Work A</u> No: <u>TC2-28PO</u>	<u> </u>			
·					

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
3	COMPLETE TYPE III BREAKAWAY BARRICADES, PLASTIC WITH LEFT HAND DIAMOND GRADE SHEETING, 48" X 8" PANELS, SHALL MEET ALL MUTCD STANDARDS. STAMPED WITH MCPW ON THE BACK OF TOP PANEL PRODUCT #: T3DG BRAND: TRAFFIC SAFETY SERVICE OR APPROVED EQUIVALENT	100 EACH	\$240.78	\$24,078
	Packaging: Palletized			
	MFG/Brand: Eastern Metal			
	Product No: BC-3105-8-DG-L Variances, if any: Different Brand			1
4	STOP AND SLOW PADDLES, 18" X 18", 72" PVC HANDLE, 6" LETTERS WITH DIAMOND GRADE SHEETING,	56 EACH	\$56.17	\$3,145.52
	PRODUCT # STSL-18DG BRAND: NHP-3MDG OR APPROVED EQUIVALENT			
	Packaging: Wrapped in groups MFG/Brand: Eastern Metal Product No: FLH-1872-DG			
	Variances, if any: Different Brand			
5	YELLOW TUFF POST 36" WITH YELLOW REFLECTIVE BANDS, ROUND TOP, 3" O.D. PRODUCT # TUFFTP36 BRAND: IMPACT RECOVERY SYSTEMS OR APPROVED EQUVALENT	30 EACH	\$81.47	\$2,444.10
	Packaging: Boxed MFG/Brand: Impact Product No: TP3-36YS-HY-HY-Q Variances, if any:	· · · · · · · · · · · · · · · · · · ·		
6	ORANGE TUFF POST 36" WITH ORANGE REFLECTIVE BANDS, ROUND TOP, 3" O.D. PRODUCT # TUFFTP36 BRAND: IMPACT RECOVERY SYSTEMS OR APPROVED EQUVALENT	30 EACH	\$81.47	\$2,444.10
	Packaging: Boxed MFG/Brand: Impact Product No: TP3-36OS-HO-HO-Q Variances, if any:		L	

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
7	PORTABLE RUBBER ONE BASE PRODUCT # 103QR BRAND: IMPACT RECOVERY SYSTEMS OR APPROVED EQUIVALENT	60 EACH	67.80	\$4,068
	Packaging: Boxed	<u></u>	<u> </u>	
	MFG/Brand: Impact			
	Product No: _BS-P1Q			
<u>-</u>	Variances, if any:			
8	" FLAGGER (SYMBOL) ", 36" X 36" (W20-7A) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP	50 EACH		
	SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN		\$57.22	\$2,861
	BRAND: ORAFOL OR APPROVED EQUIVALENT		<u> </u>	<u> </u>
	Packaging: Rolled MFG/Brand: Eastern Metal			
	Product No: C-36-SBO-4LEX-FS	-		
	Variances, if any:			
			1	
9	"BUMP "(WORDING), 36" X 36" FLUORESCENT	20 EACH		1
	ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS,			
	WITH 36" FIBERGLASS RIBLOCK		\$60.00	\$1,200
	PRODUCT # ORALITE ROLL UP SIGN			
	BRAND: ORAFOL OR APPROVED EQUIVALENT			
	Packaging: Rolled		<u> </u>	•
	MFG/Brand: Eastern Metal			
	Product No: _C-36-SBO-41 EX-B			
	Variances, if any:			
10	" ROAD WORK AHEAD " (W20-1) 36" X 36"	30 EACH		
	FLUORESCENT ORANGE	•		İ
	SUPER BRIGHT ROLL UP SIGN WITH LEXAN			I
	POCKETS,		\$57.22	\$1,716.60
	WITH 36" FIBERGLASS RIBLOCK			l .
	PRODUCT # ORALITE ROLL UP SIGN			Î
	BRAND: ORAFOL OR APPROVED EQUIVALENT			<u> </u>
	Packaging: Rolled			
	MFG/Brand: <u>Eastern Metal</u>			
	Product No: C-36-SBO-4LEX-RWA			
	Variances, if any:			

---- This Is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOLITH COLINTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
11	"DETOUR 500 FT" 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: Rolled MFG/Brand: Eastern Metal Product No: C-36-SBO-4L FX-D500 Variances, if any:	30 EACH	\$60.00	\$1,800
12	"DETOUR 1000 FT" 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: MFG/Brand: Product No: C-36-SBO-4LEX-D1000 Variances, if any:	30 EACH	\$60.00	\$1,800
13	"DETOUR 1500 FT" 36" X 36" FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN BRAND: ORAFOL OR APPROVED EQUIVALENT Packaging: Rolled MFG/Brand: Eastern Metal Product No: C-36-SBO-4LEX-D1500 Variances, if any:	30 EACH	\$60.00	\$1,800
14	FLUORESCENT ORANGE POLYETHYLENE CHANNELIZER, 42" WITH TWO 6" WHITE DIAMOND GRADE BANDS (DOES NOT INCLUDE RUBBER BASE) PRODUCT # NAVIGATOR 2 DG BRAND: PSS OR APPROVED EQUIVALENT Packaging: Nested in Box MFG/Brand: Eastern Metal Product No: 755000-P w/3MDRUM6WDGR Variances, if any: Ring top is different same useability	15 EACH	\$29.25	\$438.75

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
15	TWO WAY TEMPORARY OVERLAY MARKERS, YELLOW PRODUCT # 8007, BRAND: TRAFFIC SAFETY WAREHOUSE OR APPROVED EQUIVALENT Packaging: Boxed 500 per	3,500 EACH	.70	\$2450.00
	MFG/Brand: Pexco	<u> </u>		
	Product No:TOM-Y-2S Variances, if any:	- -		
16	TWO WAY TEMPORARY OVERLAY MARKERS, WHITE PRODUCT # 8007, BRAND: TRAFFIC SAFETY WAREHOUSE OR APPROVED EQUIVALENT	1,000 EACH	.75	\$750
	Packaging: Boxed 500 per MFG/Brand: Pexco Product No: TOM-W-2S Variances, if any:	 	·	
17	"TWO-WAY TRAFFIC DIVIDER SIGNS", (W6-4), DG3, RECTANGULAR, 12" W X 18" H, FLUORESCENT ORANGE, PRODUCT # W6-4, BRAND: HALL SIGNS OR APPROVED EQUIVALENT	30 EACH	\$22.95	\$688.50
	Packaging: Boxed MFG/Brand: Eastern Metal Product No: Al -1812080-DGO Variances, if any:	- - - -		
8	"LITTER PATROL" " 36" X 36" (WORDING) FLUORESCENT ORANGE SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS, WITH 36" FIBERGLASS RIBLOCK PRODUCT # ORALITE ROLL UP SIGN, BRAND: ORAFOL OR APPROVED EQUIVALENT	30 EACH	\$65.00	\$1,950
	Packaging: Rolled MFG/Brand: Eastern Metal Product No: C-36-SBO-4LEX-LP Variances, if any:	<u> </u>		

oounty of morniouni

REQUEST FOR BID

---- This Is Not An Order ----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Sophia Amorski 732-431-7370 x7381

FURNISH AND DELIVER WORK ZONE SAFETY EQUIPMENT FOR THE DIVISION OF ENGINEERING AND TRAFFIC SAFETY (MONMOUTH COUNTY CO-OP)

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
19	" DETOUR AHEAD " " 36" X 36" (WORDING)	25 EACH		
	FLUORESCENT ORANGE			1
	SUPER BRIGHT ROLL UP SIGN WITH LEXAN POCKETS,			1
	WITH 36" FIBERGLASS RIBLOCK		\$57.22	\$1,430.50
	PRODUCT # ORALITE ROLL UP SIGN,			ł
	BRAND: ORAFOL OR APPROVED EQUIVALENT			1
	Packaging: Rolled			
	MFG/Brand: Eastern Metal			
	Product No: _C-36-SBO-4LEX-DA			
	Variances, if any:			

TOTAL:

\$55,065.07

***NOTE:

TRUCKING CO. MUST HAVE TAILGATE DELIVERY. UNLESS OTHERWISE SPECIFIED AT THE TIME OF AWARD, DELIVERIES OF CONTRACTED MATERIALS SHALL BE MADE AT 240B CENTER STREET, FREEHOLD. AT LEAST 24 HRS. ADVANCE NOTICE SHALL BE GIVEN BY CALLING 732-431-7761, EXT. 7849.THE MATERIALS DESIGNATED HEREIN ARE TO BE SUPPLIED WITHIN 90 DAYS AFTER AWARD OF CONTRACT.

^{****}BRAND NAMES AND NUMBERS ARE MENTIONED FOR IDENTIFICATION PURPOSES ONLY. ALL ITEMS MAY BE AN EQUIVALENT. IF BIDDING AN EQUIVALENT, PLEASE SO IDENTIFY, INCLUDE PRODUCT LITERATURE, AND BE PREPARED TO DEMONSTRATE EQUIVALENCY.